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QUESTION 1

A customer has ordered a FlexPod Select solution with a NetApp EF570.

In this scenario, which three storage protocols are available for use? (Choose three.)
A. InfiniBand

B. CIFS

C.iscsl

D. NFS

E.FC

Correct Answer: BDE

QUESTION 2

Which Cisco Nexus series switch supports NX-OS standalone mode or Application Centric Infrastructure (ACI) fabric
mode?

A. Nexus 7000
B. Nexus 3000
C. Nexus 9000
D. Nexus 5000
Correct Answer: C

Reference: https://www.cisco.com/c/en/us/products/collateral/switches/nexus-9000-series-
switches/guidec07-733228.html

QUESTION 3

A FlexPod administrator is building a WWN pool for a server that has 33 ports. In this scenario, what is the smallest size
possible for the pool?

A. 33
B. 34
C.68
D. 66

Correct Answer: D
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QUESTION 4

You want to deploy a FlexPod Datacenter solution based on the minimum hardware requirements.

Which three components must be deployed in highly available pairs to accomplish this task? (Choose three.)
A. Cisco USC Nexus Switches

B. Cisco UCS 5108 Chassis

C. NetApp FAS Storage Controllers

D. Cisco APICs

E. Cisco UCS Fabric Interconnects

Correct Answer: BCE

QUESTION 5

Click the Exhibit button.

Nexus 9372 Nexus 9372

UCS 6248UP

Referring to the exhibit, what is the name given to the link between the two Cisco Nexus switches?
A. vPC Domain ID

B. vPC peer domain

C. vPC peer link

D. vPC peer connection

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/nexus5000/sw/
layer2/503_n2_1/503_n2_1nw/Cisco_n5k_layer2 config_gd_rel 503_N2_1 chapter8.html
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